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Plot Sensor and FgRec Data
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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FRV (ml plant-1)

2800
2200 -
2100 -
2000 -

1900 ~

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

1500 ~

P4_0, Day=61 (2025-06-04)

150 A
100 A

50

(¢
150 -

100 -

[
(=}
1

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1700 1650

1225 112815 218

Warning: lcol [FVI',| "FVO’'] missing 175

- 2000

T
—_
(S
o
o

FRV (ml d-1)

- 1000

- 500

1.0

0.8 A

0.6

0.4+

0.2~

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0 —%—  ECB*10%
{ ECC

7.0 1

6.5

6.0

400

300

200

100 -

optPHO0=6. 5, setPHB=6. 4 —é—  PHB*10%
o PHC

- 2000

- 1000

1 2 T 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

400

300 4 ByEt @61 19:04: ET=1567 Fg=1650.0 Ro=nan I

200

100 -

E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
5 H i H 5 5 i H 5 G A B 5 5 A B 5 G A B 5 G A

== —

-
®

- 2000

- 1000

1 2 T 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

400
]
300 4 ByWoFyv :@D63 01:56: ET=1218 Fg=1500.0 Ro=283.0

200

100 -

p——
Vi
HHE

B B 5] B 5] B B 5] B B B 5] B B B 5] B B B 5]

- 2000

- 1000

1.0

0.8

0.6

0.4+

0.2~

0.0

1000

500 -

—_—
[ ] | _obs
—@— PPFD obs

601 @ RH_obs

40 -

RH

(] RHo_obs

o VPD

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



40.

40.

39.

41.

40.

40.

39.

35.

32.

30.

27.

25.

22.

41 -

40 -

39 A

38 A

37 A

36

35 A

37.

36.

36.

35.

m=460, FV0=0

T T
600 800

m=595,m FV0=0

——

M_E

595

T T
600 605

m=790,m FV0=0

——

M_E

790

795 800

%3

—— MW

600 800

35.

40.

40.

39.

39.

40.

40.

39.

39.

T T
465 470

——

m=645,n FV0=0
6%0 Gé5
m=855,n FV0=0
8é0 865
m=460,n FV0=0
465 4%0

39.

38.

38.

37.

37.

41.

40.

40.

39.

41.

40.

40.

39.

m=505, FV0=0

5%0 5%5
m=690,n FV0=0

695 700
m=900,n FV0=0

965 9%0
m=505,n FV0=0

——

510 515

m=550, FV0=0
—— ME
40. 0 1
39. 5 A
39.0 A
T T T
550 555 560
m=735,m FV0=0
—-@— ME
40. 5 1
40. 0 1
39. 5 A
T T T
735 740 745
m=960,m FV0=0
41.04 —@— M_E
40. 5 1
40. 0 1
39. 5 A
39.0 T T T
960 965 970
m=550,m FV0=0
34 1 —— MW
32
30 A
28 4
26 -
550 555 560




m=595, FV0=0

34

32 A

30 -

28

26

—0—

M_w

595

T T
600 605

m=790,m FV0=0

34

32 -

30

28 -

26

—0—

M_W

790

T
795 800

m=645, FV0=0

32 -

30 -

28 -

26

—0—

MW

e

T
645

T T
650 655

m=855,m FV0=0

34

32 A

30 A

28 A

26 -

24 -

—0—

M_W

855

T
860 865

m=690, FV0=0

34

32 A

30 -

28 -

26

—— MW

T
690

T T
695 700

m=900,m FV0=0

36

34 -

32 -

30

28

26

—— MW

T
900

905 910

m=735, FV0=0

34 -

32 -

30 -

28 -

26 A

—0—

MW

735

T T
740 745

m=960,m FV0=0

34 -

32 -

30 -

28 A

26 -

—o—

M_W

960

965 970




hour

:50

140

:35

:35

:35

140

100

o
(4
I

80

- 60

- 40

§_

&
%
&
4,
%,
%
7%,
&
N
xe,%\
T
Y
2

@f%$
- %
%

%

%



P4

BYE) | GEBERTIC (B)) | ERE (BEA/4K) | EREE (B/R) | XS ERE

08:10 283 150.0 0. 588 | {Rie08:10 B (KRAEREE)
09:00 283 150.0 0.588 sl {Ri%@09:00 B (RFAERE)
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BTiE) | GEBIATK (F) | EME (EHA/&) | EBRERE (/X)) | XK R
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2it]2224.0 (8%) 1200. 0 32803 KEC: 2080.0, PH: 6.4

#HERECE (2138.0 vs 3153.0) RS
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